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T Offi A ¥ EE K
R H17 H18 H19 H20 H21 H17 | H18 | H19 | H20 | H21
RBIIX 235, 600 263, 900 288, 700 300, 900 282,300( 0.8 12.7) 9.5 4.0] -6.3
J\#h 133, 600 137, 300 141, 300 141, 400 133,600) -1.9| 2.5 3.2| 0.0[ -5.5
=2l 132, 800 131, 000 132, 800 132,100 126,400) -3.6| -1.3] 1.2| -0.6] 4.3
W 120, 300 120, 900 122, 300 123, 600 117,800) -1.7| 0.2| 1.0/ 0.9] 4.8
i 128, 900 131,100 134, 800 136, 900 131,300) -1.5( 1.6] 3.1] 1.4] -4.1
- MRAES R R UERE (B
T Offi A ¥ EE K
R H17 H18 H19 H20 H21 H17 | H18 | H19 | H20 | H21
RBIIX 361, 500 406, 800 454,700 474, 400 449,400] -0.3] 10.6| 9.9] 4.3/ -5.5
J\#h 184, 000 190, 000 197, 000 197, 000 183,000 -2.6/ 3.3] 3.7 0.0] -7.1
=il 244,000 240, 000 241,000 240, 000 225,000( -3.6| -1.6] 0.4] -0.4] -6.3
W 518, 800 541,000 572, 800 587, 800 560,300 0.3] 2.0] 4.8] 2.2 47
i 257,000 282,000 305, 000 328,000 312,000 2.8] 9.7] 8.2] 7.5 4.9
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R &S H17 H18 H19 H20 H21 H17 | H18 [ H19 | H20 | H21 RERNEOEM
B2 192, 000 210, 000 245,000 255, 000 235,000 0.0] 9.4/ 16.7] 4.1] -1.8 7NHET 1. 3km
. Ri-1 285, 000 336, 000 355, 000 369, 000 350,000 8.0/ 17.9[ 5.7] 3.9 -5.1 FH 250m
RIIE RiI-16 204,000 255, 000 290, 000 304, 000 283,000( 5.2) 25.0[ 13.7| 4.8] 6.9 75ET 700m
Ri-24 165, 000 205, 000 233,000 241,000 221,000( 0.6] 24.2| 13.7] 3.4] -8.3 7NHET 1. 5km
J\E-1 127, 000 129, 000 132, 000 132, 000 125,000) -3.1| 1.6] 2.3 0.0 -5.3 J\i# 2. Tkm
J\ig-2 113, 000 114, 000 116, 000 116, 000 109,000) -4.2| 0.9 1.8/ 0.0/ -6.0 J\i# 2. 4km
J\iE-3 129, 000 131, 000 134, 000 133, 000 125, 000|- 1.6 2.3 -0.7| 6.0 J\i#} 2. 5km
J\EH J\igi-4 147, 000 153, 000 158, 000 158, 000 149,000) -0.7| 4.1] 3.3] 0.0[ -5.7 J\i#} 2. Okm
J\i#-5 154, 000 166, 000 176, 000 179, 000 169,000) 3.4 7.8/ 6.0 1.7 -5.6 J\i#} 900m
I\iE-7 149, 000 155, 000 160, 000 160, 000 151,000) -2.0| 4.0/ 3.2 0.0 -5.6 J\i# 2. 2km
J\igH5-1 184, 000 190, 000 197, 000 197, 000 183,000 -2.6| 3.3 3.7 0.0 -7.1 J\i# 1. 9km
=2 125, 000 127, 000 131, 000 132, 000 128,000( -1.6| 1.6] 3.1| 0.8 -3.0] =#Bez 1.6km
=g =#-3 104, 000 103, 000 103, 000 101, 000 97,000[ -3.7[ -1.0] 0.0{ -1.9[ -4.0] =#BR 2. 6km
- =#8-5 120, 000 117, 000 118, 000 117, 000 112,000( -5.5| -2.5| 0.9] -0.8| -4.3] =#BA 3.8km
=#5-6 124, 000 121, 000 122,000 121, 000 116,000( -5.3| -2.4| 0.8 -0.8| -4.1] =43 3. 6km
W -3 102, 000 104, 000 108, 000 112, 000 104,000 1.0 2.0] 3.8 3.7 -7.1]| #af=7%m 1.4km
-4 101, 000 104, 000 108, 000 112, 000 106,000) -1.0] 3.0 3.8] 3.7| -5.4| #OEFr>/5Z 1.2kn
L -1 178, 000 187, 000 200, 000 210, 000 200,000 2.9] 5.1 7.0 5.0 -4.8 EiRl 400m
o 51 257,000 282,000 305, 000 328,000 312,000 2.8) 9.7 8.2] 7.5 4.9 EiRl 200m
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DETIRATLRBBRHRIHICE (T 5 BEMBERVESE

O£ (4 AL, %)
o B Em = z B % I
BRHES oE & | 18E | 19w | 0F | 20&F | UF | 18% | 195 05 | 2 | oo oORk
2< 1E-1 WMEFMFER146%F4 31,2001 29,600 28,6400 27,700/ 26,900 -4.6 | -5.1 -4.1 -2.5 -2.9 |2< (X 5. 9%m
5<iE2 SEFN/M156%E1 25,900 24,300 23,300 22,800 22.200] 9.1 | 6.2 41 21 2.6 |[>< (% 4 Zm
2<1E-3 EE3THSE7 120,000/ 127,000/ 129, 000| 129, 000| 127, 000 1.7 5.8 1.6 0.0 -1.6 |2< (X 1. 1km
5< 124 XARATE7E20 81,000 81,000 81,000 81,000 79.900] 3.0 00 00 00 -4 |>< 3 5m
2<1E-5 HHH33F18 131,000/ 135,000/ 138, 000| 139, 000| 137, 000 0.0 3.1 2.2 0.7 1.4 |2< (£ 1. 1km
5<1E-6 EASTH2 2% 5 80,100 79,300 79,000 78,800 77.400] 4.5 1.0 0.4 0.3 1.8 [>< (% 5 4m
2<1E-7 ZNDE1THE12%23 110,000/ 114,000/ 117,000| 118,000/ 116, 000 0.9 3.6 2.6 0.9 1.7 |2< (& 1.8km
5<1E-8 EH2TH15E&S 83,700 94500 105,000 109,000 107,000] 5.0 | 129 111 3.8 1.8 |[>< (& 1 2m
2<1E-9 AHESFEE/ HO5978&F 14+ 44,2000 42,400 41,200 40,400 39,6500(-11.8 | -4.1 -2.8 -1.9 -2.2 |#EYD 2.9%km
5<E-10  |BR4TH4E16 76,700 81,000 83,200 83,200 82.000] 4.8 56 27 00 14 |><(E 2 2m
2<1E-11 TE2TH16%4 138,000 148, 000| 154, 000| 156, 000| 154, 000 1.5 7.2 4.1 1.3 -1.3 |2< (& 1. 4km
S<E-12  |amE&TEA03 2E35 | 31,400 30,200 29,500 28,900 28,300| 14.0 3.8 23 20 21 |#EYD 2 4kn
2< 1E-13 AEEBFZHA2025F 40,800 39,200 38,300 37,600 36,5001 -4.7 -3.9 -2.3 -1.8 2.9 |H#EYD 1. 4km
S<E14 |[IBisE2 1 59,800 58,500 58,500 58,500 57.400] 3.5 2.2 00 00 1.9 |[>< 4 6km
2< [£-15 ZNDE2TH6&9 106, 000/ 110, 000/ 115, 000 116, 000| 114, 000 1.0 3.8 4.5 0.9 -1.7 |2< & 2.5km
S<E16 |4 TH6E2 3 99,000 108,000 114,000 115,000 113,000] 1.0 91 56 09 1.7 |><(& 3 kn
2< 1E-17 =a2HA2TH12%&s8 50,300 47,400 45,900 45,0000 44,000 -6.0 | -5.8 -3.2 | -2.0 -2.2 |4 5. 3km
5<IE18 | tEFI033 158 29,300 27,500 26,900 26,400 25.600] 7.0 6.1 22 -1.9 | 3.0 [pW@asmE 6 lkm
2L IF-19 EBFEE1870&7 26,400/ 23,700 22,900 22,500/ 22,6000(-10.8 | -10.2 -3.4 -1.7 -2.2 |HAZREE 8. 1km
S<E20  |[REFHEE157 2E 1 26,600 27,300 26,700 26,200 25.500] 7.7 | 4.5 2.2 1.9 27 |>< (& 13m
2< 1E-21 M1 THOE19 46,500 45,200 45,0000 44,600 44,000 -5.5 -2.8 -0.4  -0.9 -1.3 |2< (X 6.5km
S<F2 |Em25&S 74,500 81,000 82,000 82,800 81600 0.9 87 12 1.0 14 |><(F 2 4m
2< 1£-23 KRERFEA2914F 37,9001 37,300/ 37,000 36,800 36,000 -6.9 -1.6 -0.8  -0.5 -2.2 |2<IE Tkm
S<iE-24  |BAFEME1020F 1 26,500 25,400 25000 24,700 24.200] 7.0 42 1.6 1.2 2.0 [HE=E 12 5
2< [1£-25 wE2TE18%19 103,000 98,600 98,600 98,600 97, 000 -3.7 -4.3 0.0 0.0 -1.6 |2< (X 4. 9%m
5<1E26  |®E1TH10E2 34 52,100 52,500 54,000 52,700 51.100] 6.5 0.8 29 24 3.0 |><(E 7 9%m
2L £-27 BERE1TE1&1604% 46,500 43,600 42,200 41,300/ 40,6500/-10.2 @ -6.2 -3.2 | -2.1 -1.9 [4&A 1. 7km
S<(F28 |BER2THG6E4S 41,400 38,500 37,300 36,600 35.500] 9.2 7.0 | 3.1 -1.9 3.0 |4 2 8kn
2L (£-29 =5RE1TE5&70 42,500 40,000 39,200 38,6500/ 37,700 -8.6 @ -5.9 -2.0 -1.8 -2.1 |&%A 2km
Fa-1 FO=A5TH13E7 79,500 98,300 113,000 114,000 108,000] 50 236 150 09 53 [@%a
SFA-2 MW E5TEH25%28 72,600 87,400/ 93,500 91,500 86,900 3.7 20. 4 7.0 | -2.1 -5.0 |F1=FS 1. 1km
F53 ATEH5TR22E6 71,700 83,000 90,000 89,000 85.000] 0.0 158 84 1.1 45 |Em%a 1 5m
SFa-4 BAsE2TEFEK2765%1 14 | 54,500/ 69,100 88,6500 91,800 89,200 2.6 26.8 28.1 3.7 -2.8 |5F& 1.3km
Fa5 Em4THEE 17 76,300 91,300 94,000 92,000 87.400] 2.0 166 3.0 21 50 [@%a 1 Tkm
SFA-6 KETEHKN O 0 2F 94 57,900 64,300 70,700 75,800 75,000 2.5 1.1 10.0 1.2 -1.1 |=F#& 1.5km
S EAL L |ARETLHE 1 403B9 | 40500 39,700 37,100 35,000 32.300] 5.2 2.0 6.5 5.7 1.7 |#5E 4 %kn
DKEH B2 | FEHEFFREHRS 7E29 34,400 34,400 34,400 34,000 31,500 -5.0 0.0 0.0 -1.2 =1.4 |#&5WF 2. 8km
S EH 53| ARETENE 1212810 | 42,900 42,000 37,600 35,500 32,800 7.7 21 105 5.6 7.6 |%& Tkm
K IEH D N4 BERFEHF2164F14 42,700 40,100 38,100/ 37,700/ 37,000 -9.7 -6. 1 5.0 -1.0 -1.9 [/M48 660m
S 1E#5 5| MEFELE127 3ES 39,300 36,700 34,700 34,500 33,000 10.1 | 6.6 5.4 0.6 4.3 |/ 800m
DK IEH B -6|EHAFMAF1814F3 44,400 43,500 43,0000 41,200/ 39,000 -3.1 -2.0 -1.1 -4.2 -5.3 [/M4E 1. 2km
Omih (4t m@m, %)
BEMmE z W = o
# TE | eE | 19& | 0F | 20F | UF | 180F | 1og | 205 | 2ig | oo b Ok
S<E5-1  |BAFE1 12581/ 33,900 31,300 30,600 30,200 29000113 | 7.7 2.2 1.3 4.0 [H%=E 12 Tk
2< 1E5-2 ME1TEH8&S 196, 000/ 202, 000| 215, 000| 218, 000| 213, 000 0.0 3.1 6.4 1.4 | -2.3 |[2<I£ 600m
S<F53  |amETLEE60 13H2 | 56 100 52200 50,500 49500 47.500]13.0 7.0 3.3 2.0 40 |BEYD 2kn
2< 1E£5-4 JbEFEHE o 1 &S 37,400 34,400 33,200 32,400/ 31,100/ -13.0 | -8.0 -3.5 -2.4 | -4.0 |2< (X 13. 7km
5<(#55  |KERFEE299OE 1 44,500 41,000 39,500 38,800 37.200] <110 7.9 3.7 —1.8 41 |><E 7. 7kn
SFA5-1 =B 2TH16&15 91,000 96, 500/ 108, 000/ 110, 000| 107, 000 — 6.0 11.9 1.9 -2.7 |BE=F8 1. 1km
Fa52 BrE7TE1ES — — 120,000 122,000 120.000] — | — | — | 1.7 1.6 |%& 2 2mn
2 EHBLAS [FENDE3TH26F 14 - - 92,000/ 92,000 89,000 - - — 0.0 -3.3 /Mg 1km




